Koppel de juiste afgeleide aan de juiste functie

Nummer | Functie Letter | Afgeleide
1 flx) =2x3—3x2+8x—4 |A

2 f(x)z%x3—8x+7 B

3 f(x) =x%(x+6) C

4 f(x) = (2x + 8)(x* —5) D

; - e

6 o) = o .

7 f(x) = (3x — 5)2 G

8 fx) = (2x+1)3 H

1 E |4 |5 6




Uitwerkingen

Nummer | Functie Letter | Afgeleide

1 flx) =2x3—-3x2+8x—4 |[A f'(x) =6(3x—75)

5 1 5 _gyt7 . ,()_Zx-18x2—6x3-2
F) = 52° ~ 8x ) =5

3 f(x) =x%(x+6) C f'(x) =2(x*-=5)+ (2x + 8) - 2x

4 f(x) = (2x + 8)(x%* — 5) D f'(x) =6x*—6x+8

5 f(x) = 62_3;3 E f'(x) = 6(2x + 1)?

6 Flx) = 2‘% F F1(%0) = 2x(x + 6) + K

. £(0) = Bx — 5)? . % _2x%4—4x - 4x

- flx) = (2x2)2
8 fx) = (2x+1)3 H fl(x)=x*-8
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